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The correct answer is: Ladll LS
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Select one:
. True

O False v

The correct answer is 'False'.
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Mark 0.00 out of 1.00
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The correct answer is: Ll LS
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¥ L Yl e Tlpaall Jlae aoi
I e V) Lhlaas 550300 550 ma

Select one;
D True v

_ False

The correct answer is "True'.
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Select one:
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The correct answer is: Lisiw 51aly 5,
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Select one:
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Select one:
O True v

__ False
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Select one:
True

O False X

The correct answer is "True'.
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Question 6
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Select one:
O True v

' False

The correct answer is "True'.
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Correct
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Select one:
© True v

. False

The correct answer is "True'.
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The correct answer is:
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Correct

Mark 1.00 out of 1.00

" Flag question
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Select one:
D a. pusus S5 L S
O b.
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Select one:
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The correct answer is:
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The correct answer is:



Question 13
Correct

Mark 1.00 out of 1.00
" Flag question
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Select one:
O True v

. False

The correct answer is "True'.
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Select one;
. True

D False v

The correct answer is 'False’.

Question 1 5
Correct

Mark 1.00 out of 1.00
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Question 17
Correct

Mark 1.00 out of 1.00

" Flag question
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Select one:
O True v

' False

The correct answer is "True'.
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The correct answer is:
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Select one:
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The correct answer is:
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Select one:
. True

O False X

The correct answer is "True'.
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Select one;

' True

O False v

The correct answer is 'False’,
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The correct answer is:
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Select one:

. True

O False v

The correct answer is 'False’.
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